ZAEDNHhT Ot v X —[ENS 2025435100
SH6FE
[ElNE 4 A 5A 6 A 7AH 8 A 9A
ERl= EUR = () | EUNE (kg) |ERRE(R) | EIURE (kg) |EUN=R8(R) | EUNE (kg) |EUNRE(R) | EIUE (kg) |EUNRE(R) | EUNE (kg) |EUR A2 (R) | EUE (kg)
i 63 9.18 23 6.56 45 9.22 3 2.02 2 1 37 6.2
AV ARRY
Lag 65 13.72 65 13.5 51 9.52 58 6.92 127 10.22 148 19.29
Er27) 7 2.9 44 49.36 41 37.9 46 9.76 13 4.66 29 9.27
LT G 0 0.58 29 3.78 0 1 0.18 1 1.06 8 0.92
B 3 1.62 18 5.52 2.24 7 2.06 4 1.68 13 8.46
SRR 58 20.26 34 7.04 36 3.53 25 3.18 20 12.5 45 7.69
BETF 284 40.86 381 48.56 279 35.82 324 36.28 386 51.78 314 38.1
Z DM 15 30.36 21 39.74 10 3.19 5 11.16 0 0 21 48.88
&5 495 119.48 615 174.06 471 101.42 469 71.56 553 82.9 615 138.81
FRAANEL 20 31 20 21 16 35
BN E 10AR 118 128 1R 2R 3R &5t
an B EUR = (=) | BEUNE (kg) |EUS#(R) | EURE (kg) |EUNa#(=) | BIUNE (kg) [EMEE(R) | EUE (kg) |EUNS#(=R) | EUXE (k) |EUNa#(R) | BEIUNE (kg) (EMX S (R)| EUXE (kg)
& 37 6.2 23 5.6 21 4.26 28 8.42 9 1.04 291 59.70
AVARRY
Eg 148 19.29 125 36.68 164 26.14 128 14.9 73 10.68 1,152 180.86
Er&7)] 29 9.27 42 13.06 30 9.86 44 9.1 17 5.44 342 160.58
W4T & 8 0.92 2 0.8 9 1.14 23 1.66 7 0.86 88 11.90
/e 13 8.46 29 5.48 17 3.3 22 10.66 18 4.66 153 54.14
FBREL 45 7.69 32 15.82 51 14.38 19 6.36 1 1.02 366 99.47
BEF 314 38.1 373 55.9 348 44.4 404 49.53 183 24.66 3,590 463.99
Z D 21 48.88 16 2.62 9 2.94 0 0 2 1.8 120 189.57
&5t 615 138.81 642 135.96 649 106.42 668 100.63 310 50.16 0 0 6,102 1220.21
FRAANEL 35 18 29 29 15 269




A b= —=H =T FBAEEREID 2025434108
SH6ERE
[ENE 4B 58 6 A 7R 8 B 98
am B B RE(R) | BIUXE (kg) [EMXR#(R) | BIURE (kg) |EUR=H(R) | BIURE (kg) |ER R () | BIUNE (kg) |EMRE () | EUXE (kg) |EMR =% ()| EIXE (kg)
s 14 2.44 22 4.62 4 1.18 33 7.06 10 1.7 17 3.36
X%
as 32 5.1 24 3.46 25 3.28 12 3.16 21 2.92 25 5.66
#24) 26 7.48 9 3.92 8 1.9 7 1.84 9 2.28 12 4.8
&L an 5 0.6 4 0.54 35 0.41 0.28 8 0.44 1 0.14
BRR 5 1.82 5 1.06 3 0.7 1.56 24 5.42 21 11.86
SRR 41 14.46 4.28 16 3.24 0.56 6 1.72 13 3.56
BET 21 2.1 25 2 5 0.8 16 1.3 19 0.56 15 1.66
Z Dt 0 0 0 0 0 0 0 0 0 0 0
At 144 34 98 19.88 96 11.51 76 15.76 97 15.04 104 31.04
[ENE 10AR 118 12AR 18 2R 3R At
an B EUR = 8(=) | EUXE (kg) |ER=E () | BIUNE (kg) |EUR=H(R) | EURE (kg) [EUR =% () | BUXE (kg) |EUREH(R) | EUNE (kg) [EMR=# () | BIUXE (kg) |EUR =2 (R) | EIURE (kg)
s 5 0.46 9 1.98 15 2.74 17 3.46 1 0.24 147 29.24
AR
&g 16 1.6 9 1.36 15 2.16 65 7.56 15 2.16 259 38.42
g2 18 3.38 3 0.88 8.62 52 15.22 5.46 160 55.78
ELT iR 13 0.36 5 0.34 0.62 20 1.44 0 98 5.17
BRE 13 6.2 8 3.54 13 4.22 27 12.92 18 5.64 141 54.94
FElER 0.76 17 2.1 11 1.96 14 6.18 4 0.6 137 39.42
BET 0.66 13 1.86 18 0.98 19 2.24 16 1.22 176 15.38
Z Dt 0 0 0 0 0 0 0 0 0 0 0.00
At 77 13.42 64 12.06 86 21.3 214 49.02 62 15.32 0 0 1,118 238.35




A4 k=3 —H F—=/NEERINS 2025437108
SH6EE
EUXE 4 B 5H 6 B 7H 8 H 9H
mm B ER s () | BEUNE (kg) |EINSZR(R) | EUNE (kg) (B S (R) | EUNE (kg) [EUNSm2(=) | BEUNE (kg) |EINSAER(S) | EUNZE (kg) [EU &% (=) | EUXE (kg)
e 3 1 16 2.8 28 5.5 0 0 10 2 4 1
AV AR
9 2.2 10 1.3 8 1.3 4 0.8 22 2.9 30 3.4
b B
ErZy)| 2 0.7 27 5.3 11 2.4 3 2.5 12 3.2 0 0
RELT & 3 0.2 4 0.6 2 0.5 1 0.4 0 0 0
Bkt 30 7.7 2 1.9 0 0 0 0 3.3 4 1
AR 6 1.9 2 0.7 4 1 0 0 2.2 2 0.5
BETF 2 0.2 5 0.5 2 0.2 1 0.1 15 2 6 0.7
Z Dth 0 0 0 0 0 0 0 0 0 0 0
&t 55 13.9 66 13.1 55 10.9 9 3.8 69 15.6 46 6.6
B E 108 11R 12AR 18 2 B 3R =
mm B EUR =2 (=) | EUNE (kg) |EUa$(R) | EUNE (kg) [EUR=2 (=) | EUNE (kg) |EUa$(R) | EUNE (kg) [EUNa% (=) | EUXE (kg) |EU S (R) | EUNE (kg) [EUN= (=) | EIXE (kg)
HiE 1 0.5 0 0 0 0 18 1 1 0.2 81 14.00
A VARV
0 0 0 0 17 2 1 0.2 0 0 101 14.10
B
By 0 0 0 0 0 0 8 3 4 0.8 67 17.90
RELT G 0 0 0 0 0 0 0 0 0 0 10 1.70
Bkt 0 0 0 0 4 0.7 0 0 3 2 46 16.60
AR 0 0 0 0 0 0 3 0.6 6 1.7 30 8.60
BET 6 0.7 3 0.36 4 1.1 246 11 0 0 290 16.86
Z DAth 0 0 0 0 0 0 0 0 0 0 0 0.00
&t 7 1.2 3 0.36 25 3.8 276 15.8 14 4.7 0 0 625 89.76




IR ERERIN Y 2025438108
ST6EE
EUNE 4 B 58 6 A 7H 8 A 98 (EER23FC)
mA EU % (=) | [EUNE (kg) [EUX % (R) | EURE (kg) |EUNSE(R) | BUXE (kg) | A (=) | BEUNE (k) |EU %k (=) [ ENE (kg) (EUXa$k(R) | EUE (kg)
LR 10 18 0 0
AV ARV
17 3.9 5 1.05
FEm
E2Y) 17 7.1 5 0.65
RELT T 3 0.35 0 0
Bkt 9 2.6 7 4.9
SRR 14 5.65 4 0.35
BPEF 20 1.8 0 0
ZDfth 3 0.85 0 0
&&t 0 0 0 0 93 24.05 0 0 0 0 21 6.95
EUNE 10R 118 128 18 2B 3B &&t
28 |Eak) | BREke) |EiskR) | BiEke) |EakR) | miEke) [EsasR) | BiE(e) [ERsasR) | i e) [Ensass) | B e) [Emnsas) | B ke)
= 0 0 10 1.80
AV REY
17 2.29 39 1.24
P&
&) 11 5.19 33 12.94
RELT S 0.97 7 1.32
Bkl 3 2.26 19 9.76
RELRS 12 4.04 30 10.04
BPET 8 1.11 28 2.91
ZDfth 24 1.82 27 2.67
&5t 79 17.68 0 0 0 0 0 0 0 0 0 0 193 48.68




